[ =2t ] (Chel - )
2 ARl B Y40l B I AIBRAY B 1IMMBHLEARR
= = qay (SE=| 32
B 8 Mg = of & o

2 A 32,953,965 | 34,452,000 | 21,498,035

600 A9l 10,815,665| 10,016,146 799,519

610 I+ 9,715,003 | 9,853,908 ~A138,905

611 ABZ4 9,715,003 | 9,853,908 ~A138,905

02 7M4EstrEAER 6,058,739 | 6,160,941 A102,202
O7I4 & Ste=AER 49 504,894,977x12¢€= 6,058,739

06 LeESTEAEZ 3,546,611 3,567,603 ~20,992
OYErE steEAE= 9 295,550,995x12&= 3,546,611

10 UYLYSUESITZAIER 109,653 125,364 A15,711
OUESYE St AlER 9,137,787x12¥= 109,653

670 FYs2 1,100,662 162,238 938,424

671 O|A2 30,000 30,000 0

01 Oz02t+¢ 30,000 30,000 0
Ot ¥4 A=S29 0lA+Y 30,000,000= 30,000

672 Efe[AMY3+ 1,070,627 132,203 938,424

01 UBHBIAMYZ 983,012 0 983,012
OYER|AMY S 983,012,000= 983,012

09 7IEfHYS 87,615 132,203 A44,588
O E8s|A Mea 87,615
-OFSskee 2YEd Vs WYS(@UERIY) 68,339,000= 68,339
-OSstee 2 Ve dYsE@E) 19,276,000= 19,276

679 7IEtE YLl 35 35 0

01 7IEfoi+Y 35 35 0
OSRAL AIS Y= (ZYHSSHAIYH) 35,000= 35




[ 5423} | (T -
2y g ZARYZeY ME EEAHEdERS Y 5 1EREeY
= = qay (SE=| 32
-8-M38-2 o £ A
100 224+ 22,138,300 | 24,435,854 | 2,297,554
170 A2do=a4¢ 20,726,000 | 23,023,554 | ~2,297,554
173 ElR[AHEERZ Y 17,726,000 | 20,023,554 | n2,297,554
01 =2nERIFZ4Y 6,886,000 11,406,554 | A4,520,554
O SAH 23 2= HHAIY 1,359,000,000= 1,359,000
OZY Saotexe|d SHAY 1,200,000,000= 1,200,000
OZY BB5H4H2| A4 IHZALY 948,000,000= 948,000
OdY aaotex{e|d SEAIY 518,000,000= 518,000
OALLE Stk EA|Z4 THISAY 1,367,000,000= 1,367,000
OADIE ofe 2442 MEALY 692,000,000= 692,000
OHALS SH4TH2 ZH| ALY 100,000,000= 100,000
OFYS 2|2+ o2 ALY 102,000,000= 102,000
OSd=E 2|2+ o= FHIAIY 300,000,000= 300,000
OBYH2| T LS 5H42H2 ZH[ARY 300,000,000= 300,000
02 ERAHLEEZRZSY 10,520,000 8,141,000 2,379,000
O SMA A2 HHIAI (ZH|AKY) 3,000,000,000= 3,000,000
O0ZY aaotexe|d SEAIY (IHAIY) 7,520,000,000= 7,520,000
03 AlzHEZRZSY 320,000 476,000 A 156,000
OZY Saotex2|d SHAY 280,000,000= 280,000
OSL=E 2|27 o= ALY 40,000,000= 40,000
175 SAREEZ+Y 3,000,000 3,000,000 0
09 7VIEISAIREEZ+Y 3,000,000 3,000,000 0
Oste HRIRREF 3,000,000,000= 3,000,000
180 |Ez= 1,412,300 1,412,300 0
181 =MAYAZ 1,252,300 1,252,300 0
01 T=MAYNHZ 1,252,300 1,252,300 0
OdEL dg0|Ea 1,252,300,000= 1,252,300
182 0|2 160,000 160,000 0
01 <Zoe=z 160,000 160,000 0
OWHEE st AtERE O|5F 160,000,000= 160,000
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A4 o AE2A0EeY M ERIAHdEREsY =i 082S
= = aey | ZE=| a7
2-g-M-= Off 4AF o
100 A2 2,504,286 2,000| 2,502,286
170 Aoz 2,502,286 0] 2,502,286
173 EAHEEZSSY 2,502,286 0| 2,502,286
01 =Z1ERZLQ 1,362,500 0| 1,362,500
o YUIIIITH =T T2 HH|ALY 500,000,000x14!= 500,000
0 EFAZ 2| EfQFTl Ad 2| ALY 862,500,000x14l= 862,500
02 ERAHMEEZIZSY 1,120,886 0 1,120,886
O YT =T T2 HHIAIY (FH|ALY)
214,286,000x14l= 214,286
o ZYSt2{2|2 O| 0|2 7HAALY 44,100,000x14l= 44,100
OEIAZRI Ef kT MR ALY 862,500,000x14l= 862,500
03 AlzHEZZ4Y 18,900 0 18,900
o ZUst2{2[d 0|0 A 7H M ALY 18,900,000x14l= 18,900
180 FEAIS 2,000 2,000 0
182 0|3 2,000 2,000 0
01 dJgoieza 2,000 2,000 0
o EfQlme2| 2HH|E FEa HH=0|ea 2,000,000= 2,000




